Section 3.5 Notes: Exponential and Logarithmic Models

Population Formula: A4 = Irt

1.) The population of a town in 2015 is 134,000. It has an annual rate of increase of 5.7%.
a.) What is the growth rate? I, oS7 "
b.) Create a formula for the population growth. A . ’39,600 ( l. 057)

c.) Based on this growth, what is the expected population in 20207 42)3’ 060(] “7){
/7 ) -

2.) The population of a town in 2002 is 78,000. It has an annual rate of decrease of 5.7%.

a.) What is the growth rate? I -, o087 = . 993

- ]
b.} Create a formula for the population growth. - (
ﬂ < 79, 000 1773)
c.) Based on this growth, what is the expected population in 20207

# = 79,000 (.9¥3)

3.) The population of a town in 2005 is 27,500. It has an annual rate of increase of 2.5%.

R

a.) What is the growth rate? 11095'

b.) Create a formula for the population growth. H._-_ 7 s00 <11695,>t

c.) Based on this growth, what is the expected population in 20257

A= 37.500(]. 035)

4.) The population of a town in 2012 is 123,000. It has an annual rate of decrease of 2.7%.
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a.) What is the growth rate? ) - 637 - ? 73
b.) Create a formula for the population growth. A,_-_ 133 600( .973) t

c.) Based on this growth, what is the expected population in 20177

A= 103,000(.273)° .

A= 167 2% ]




Fn = (1+i?"—1] Pn = [1— (1+i)‘"]

i

5. You decide to put away $200 a month into your 401K. You expect to see a 5% return on average. If
you plan to retire after 40 years of working, how much will your 401K be worth?

B G4 000 fitrn
fr = 200 é’r—%squ_) o
(%) = £ 308,209,03
1§ 2, .0%I6

6. You decide to put away $250 a month into your 401K. You expect to see a 5% return on average. If
you plan to retire after 35 years of working, how much will your 401K be worth?

¥108 900 Fotin
FI\ = 2% (“’ ‘1529?)
(%)

7. You have found a car for $18,000. The dealership has offered you a 5.5% interest rate for a 6 year
loan. What is your monthly payment on your loan?
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8. You have found a car for $18,000.- The dealership has offered you a 5% interest rate for a 5 year loan.
What is your monthly payment on your loan?
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